Jotul F 602 ECO

Jotul F 602 Eco BP cat no 30054879/ Jgtul F 602 Eco BBE cat no 30055581

BP= Sort lakk/Black Paint

BBE= Blasort emalje/ Blue Black Enamel

Pos. no. Spareparts Benevnelse Description Dim./Spec.

1 12055249 | Luft Kanal @vre Air Manifold Upper F 602 Eco Cast Iron min 5mm thickness
2 12055251 | Luft Deksel Air Cover F 602 Eco Cast Iron min 5mm thickness
3 12055252 |Brennplate Bak Burn Plate Back F 602 Eco Cast Iron min 5mm thickness
4 12055258 |Bakplate BP Back Plate F 602 Eco Cast Iron min 5mm thickness
5 12054845|Hvelv Vault F 602 Eco Cast Iron min 5mm thickness
6 12055259 |Front BP Front F 602 Eco Cast Iron min 5mm thickness
7 12055264 | Sidestykke BP Side Plate F 602 Eco Cast Iron min 5mm thickness
8 12055253 |Brennplate Venstre Burn Plate Left F 602 Eco Cast Iron min 5mm thickness
9 12055254 |Brennplate Hgyre Burn Plate Right F 602 Eco Cast Iron min 5mm thickness

10 12055255 |Fyrbunn Venstre Inner Bottom Left F 602 Eco Cast Iron min 5mm thickness

11 12055256 |Fyrbunn Hayre Inner Bottom Right F 602 Eco Cast Iron min 5mm thickness

12 12055248 | Topplate BP Top Plate F 602 Eco Cast Iron min 5mm thickness

13 12055260|Bunnplate BP Bottom Plate F 602 Eco Cast Iron min 5mm thickness

14 12055269 | Ledeplate Exhaust Deflector F 602 Eco Cast Iron min 5mm thickness

15 12055265|Ventilhendel BP Valve Handle F 602 Eco Cast Iron min 5mm thickness

16 12055267 |Kokeplate 240mm F 602 Eco Cook Plate 240Mm F 602 Eco Cast Iron min 5mm thickness

17 12055266 | Rgykhulldeksel BP Smoke Outlet Cover F 602 Eco Cast Iron min 5mm thickness

18 12055262 |Dgr komplett uten glass BP Door Completed no/glass Cast Iron min 5mm thickness

18 12055261 |Dgr BP Door F 602 Eco Cast Iron min 5mm thickness

19 12055263 | Klinke BP Door Handle F 602 Eco Cast Iron min 5mm thickness

20 12055268 | R@ykstuss BP Smoke Outlet F 602 Eco Cast Iron min 5mm thickness

21 12014405 |Ben BP Legs BP Cast Iron min 5mm thickness

30 10054502 |Isolasjonsmatte Bunn Insulating Mat Inner F 602 Eco Superwool

31 10054503 | Isolasjonsmatte Side Insulating Mat Side F 602 Eco Superwool

32 10054504 | Pakning @vre Gasket Upper F 602 Eco Superwool

33 10054505|Pakning Bunn Gasket Bottom F 602 Eco Superwool

34 10054506 |Glass Dgr Glass Door F 602 Eco Ceramic glass 4mm

35 10054508 | Ventil Plate Valve Plate F 602 Eco Steel

36 10024025| Treknott Wood Handle Wood

37 10023782 |Lasehake Door Locker Steel

38 10054809 |Godkjenningssklt Approval Label

40 10024245|Glassklips J12-F600 Glassclips Steel

41 10024108/ Glassklips,P.18/S.80/P3G Dv Glassclip Middle 18/S80/3Dv Steel

42 10024103 |Nagle @6X33 Sortkromatisert Hinge Pin 06 X 33 Blackcrom Steel

Spareparts_F_602 ECO_900294-P02

lav2



Jotul F 602 ECO

Jotul F 602 Eco BP cat no 30054879/ Jgtul F 602 Eco BBE cat no 30055581

BP= Sort lakk/Black Paint

BBE= Blasort emalje/ Blue Black Enamel

Pos. no. Spareparts Benevnelse Description Dim./Spec.
43 10023561 |Skr Sylh Innv6K M6X8 Lav Fosfa Screw Cylh Inthex M6X8 Steel
44 10023541 |Skr 6K M/FI M6X16 St8,8 Fosfat Scr Hexcap FI M6X16 St8,8 Untr Steel
45 10023540|Skr 6K M/FI M6X20 St8.8 Fosfat Scr Hexcap FI M6X20 St8.8 Untr Steel
46 10023544 |Skr 6K M/FI M6X10 St8.8 Fosfat Scr Hexcap FI M6X10 St8.8 Ubeh Steel
47 10023536 |Skr 6K M/FI M6X25 St8.8 Fosfat Scr Hexcap FI M6X25 St8.8 Untr Steel
48 10023556 | Skr Senkh Innv6K M6X16 Fosfat Screw Flat Inthex M6X16 Steel
49 10023595| Skr Senkh Innv6K M8X16 Fosfat Screw Flat Inthex M8X16 St8,8 Steel
50 10023611 |Skrue Mask Panh. Poz M6X40 Elz Screw Mach Panh Poz M6X40 Elzn Steel
51 10023665 | Skr 6K M/FI M8X40 St8,8 Fosfat Scr Hexcap Fl M8X40 St8,8 Untr Steel
52 10026565 | Fjeer For Ventiler Spring For Valves Steel
53 10023475|Mutter 6K M6 St8,8 Ubeh Nut Hex M6 St8,8 Untr Steel
54 10023517 |Mutter 6K Lav M8 St8,8 Elzn Nut Hex Low M8 St8,8 Elzn Steel
55 10023578|Skive @810,5X@25X1,5 Sortk Spes Washer @10,5X@25X1,5 Steel Bla Steel
56 10023667 |Mutter 6K M/FI M8 St8,8 Fosfat Nut Hex Cap FI M8 St8,8 Untr Steel
57 10023780|Skive @6,4X@18X1,6 St8,8 Ubeh Washer @6,4Xg18X1,6 St8,8 Untr Steel
58 10023998 | Hylse @10X@6,2X15 Casing Doorhandle Sys 80 Alpha Steel
59 10024023 |Distansehylse @8X6 L=27,5 Distancelock No 3Td 8X6 27,5 Steel
60 10023919/ Skive Klingeritt F/Handtak Insul.Washer For Wooden Knob
61 50027202 |Lisse Dgr Gasket Door Gasket 8,6mm, a 5m
62 50027205 |Lisse Glass Gasket Glass PAKN.LD-250 @6,35 X 5 M. 6 STK
80 10054507 | Skjermplate Side Heat Shield Side F 602 Eco Steel
81 51054941 |Kokeplate @125 F 602 Eco Cook Plate @125 F 602 Eco Cast Iron min 5mm thickness
82 10055054 | Deksel Uteluft F 602 Eco Outside Air Host Cover F 602 Eco Steel
83 51054938 | Adapter Uteluft F 602 Eco Bp Outside Air Adapter F 602 Eco Cast Iron min 5mm thickness
90 12054902 |Pose pakket til F 602 ECO Bag with content F 602 ECO

Spareparts_F_602 ECO_900294-P02

2av2



